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lim (2 — 20)" f(2)

Z—20
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o)) f(Z):ZﬂL;

z

@ ()= 5

3) f(z) = f{ff

@ f(z) = 22+12+1

®) =) = 23—2222—2—1—1

©6) f(2) = 22123—212

D f(z) = 11__2; 0O O0000)

(8) f(Z)ZC(H—Z% k0oooo)
k=1
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000 z=z+iy(r,y 000)00000000D000 e*0

e = e"(cosy + isiny)
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(a) 6z1€zz — ezl+22

(b) (ez)—l — %

(c) || =¢€"

(d) e*T2*m — o7 (k= 0,41,42,--)

de?

=0 00000o0n.
dz
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zU000,:000000b0D0.0O0DbO000obboboaaad.

(Hh ooouoobooooooooooogad.
i) sin(z; &+ 29) = sin z; cos z5 & oS 21 sin 23
ii) cos(z; £ z2) = cos 21 €OS 22 F sin 2 sin 2y
iii) cos?z +sin®z =1
iv) cos(—z) =cosz, sin(—z)= —sinz
2) cosz,sinzOOOOOOOOOO.
@G UUuoddooooooooooboboooo.

i) sinh(z; & 25) = sinh 21 cosh z5 &+ cosh z; sinh 2,
i) cosh(z; & 29) = cosh 21 cosh 23 &+ sinh z; sinh 2,
iii) cosh?z —sinh?z =1
iv) cosh(—z) = coshz, sinh(—z) = —sinhz
(4 000000000.
i) sin(iz) = isinh z
i) cos(iz) = cosh z
iii) sinh(iz) =isinz
iv) cosh(iz) = cosz

(5) |cosi|>10000000000.
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(1) lim

z2—1 2 — 1

.21
=

sin z

3) lim

z—0 z

COS 2

4) lim

z—T/2 2 — 7T/2
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(5) lim — 2%

z—0 22

(6) hmZ—SIIlZ

z—0 2;3
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z

0ty
z — 3m

(8) lim

z—3mi sinh z
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